BestPack

the total tape sealing solution

MSD22 SPARE PARTS KIT 2"

MANUAL SIDEDRIVE DUAL MAST CARTON SEALER

TOP & BOTTOM SEAL OPERATOR REQUIRED UNIFORM CARTONS

2" Spare Parts Kit Part#:;

MSD22SPK

2 27280031 Bearing, Ball 600327

2 900600SBAC Belt, 1860mm x 2" Black

2 27280091 Bearing, Ball 6202727

1 10096-1 Spring, Main (Top)

1 10096-2 Spring, Main (Bottom) Chrome

4 10117 Bumper, Rubber M15x7

4 10116 Bushing, Bumper M8x7

2 10122 Blade, Cutter 2"

2 AC231300 Roller, Rubber Front 2"

2 AC232000 Roller, Rubber Rear 2"

2 A1125001 Rubber, Coupler, Blue, (T-HG)

2 A1122000 Coupler, Drive Belt M35x39

2 9510303 Spring, Front Roller

2 9510294 Washer, M21xm10x2 (Plastic)

2 10315 Cushion, Blade 2"

2 9510304 Spring, Blade Guard

4 2706401 Ring, E-Clip M3

Note: Part numbers, descriptions, and pricing are all subject to change without prior notification.

WWW.BESTPACK.COM VERSION 3.1_0419

QUALITY ¢ INNOVATION « COMMUNITY

© 2019 BestPack Packaging Systems. All rights reserved. This document is BestPack Public Information.



MSD22 SPARE PARTS KIT 2" CONTINUED

2" SPARE PARTS KIT PART #: MSD22SPK

QUANTITY PART NUMBER DESCRIPTION

2 9510305 Spring, Support Tape Erect
4 9510300 Spring, Cutter Blade Arm

Note: Part numbers, descriptions, and pricing are all subject to change without prior notification.

Bestpack For more information please go to:
WWW.BESTPACK.COM or call us at 1.888.588.2378

the tOtGI tape Sealing SOIUtiOn © 2019 BestPack Packaging Systems. All rights reserved. This document is BestPack Public Information.



BestPack

the total tape sealing solution

MSD22 SPARE PARTS KIT 3"

MANUAL SIDEDRIVE DUAL MAST CARTON SEALER

TOP & BOTTOM SEAL OPERATOR REQUIRED UNIFORM CARTONS

3" Spare Parts Kit Part#:

MSD22SPK-0

2 27280031 Bearing, Ball 600327

2 900600SBAC Belt, 1860mm x 2" Black

2 27280091 Bearing, Ball 620227

1 10096-1 Spring, Main (Top)

1 10096-2 Spring, Main (Bottom) Chrome

4 10117 Bumper, Rubber M15x7

4 10116 Bushing, Bumper M8x7

2 10122-0 Blade, Cutter 3"

2 AC331300 Roller, Rubber Front 3"

2 AC332000 Roller, Rubber Rear 3"

2 A1125001 Rubber, Coupler, Blue, (T-HG)

2 A1122000 Coupler, Drive Belt M35x39

2 9510303 Spring, Front Roller

2 9510294 Washer, M21xm10x2 (Plastic)

2 10315-0 Cushion, Blade 3"

2 9510304 Spring, Blade Guard

4 2706401 Ring, E-Clip M3

Note: Part numbers, descriptions, and pricing are all subject to change without prior notification.

WWW.BESTPACK.COM VERSION 3.1_0419

QUALITY ¢ INNOVATION « COMMUNITY

© 2019 BestPack Packaging Systems. All rights reserved. This document is BestPack Public Information.



MSD22 SPARE PARTS KIT 3" CONTINUED

3" SPARE PARTS KIT PART #: MSD22SPK-0

QUANTITY PART NUMBER DESCRIPTION

2 9510305 Spring, Support Tape Erect
4 9510300 Spring, Cutter Blade Arm

Note: Part numbers, descriptions, and pricing are all subject to change without prior notification.

Bestpack For more information please go to:
WWW.BESTPACK.COM or call us at 1.888.588.2378

the tOtGI tape Sealing SOIUtiOn © 2019 BestPack Packaging Systems. All rights reserved. This document is BestPack Public Information.



BestPack

the total tape sealing solution

MSD22S SPARE PARTS KIT 2"

MANUAL SIDEDRIVE DUAL MAST STAINLESS SEALER

TOP & BOTTOM SEAL OPERATOR REQUIRED UNIFORM CARTONS

2" Spare Parts Kit Part#:

MSD22SKS

QUANTITY PART NUMBER DESCRIPTION

2 27280045 Bearing, Ball 600322 ST

2 900600SBAC Belt, 1860mm x 2" Black

2 2728080 Bearing, Ball 620227 ST

1 10096-1S Spring, Main (Top) Stainless

1 10096-2S Spring, Main (Bottom) Chrome Stainless

4 10117 Bumper, Rubber M15x7

4 10116S Bushing, Bumper ST

2 10122 Blade, Cutter 2"

2 AC231300 Roller, Rubber Front 2"

2 AC232000 Roller, Rubber Rear 2"

2 A1125001 Rubber, Coupler, Blue, (T-HG)

2 A1122000 Coupler, Drive Belt M35x39

1 9510303S Spring, Front Roller Stainless

1 9510294 Washer, M21xM10x2 (Plastic)

2 10315 Cushion, Blade 2"

2 9510304S Ring, Retaining M4 Stainless Steel

4 27064018 Ring, E-Clip M3

Note: Part numbers, descriptions, and pricing are all subject to change without prior notification.

WWW.BESTPACK.COM VERSION 3.1_0419

QUALITY ¢ INNOVATION « COMMUNITY

© 2019 BestPack Packaging Systems. All rights reserved. This document is BestPack Public Information.



MSD22 SPARE PARTS KIT 2" CONTINUED

2" SPARE PARTS KIT PART #: MSD22SKS

QUANTITY PART NUMBER DESCRIPTION

2 9510305S Spring, Support ST
4 9510300S Spring, Cutter Blade Arm ST

Note: Part numbers, descriptions, and pricing are all subject to change without prior notification.

Bestpack For more information please go to:
WWW.BESTPACK.COM or call us at 1.888.588.2378

the tOtGI tape Sealing SOIUtiOn © 2019 BestPack Packaging Systems. All rights reserved. This document is BestPack Public Information.



BestPack

the total tape sealing solution

MSD22S SPARE PARTS KIT 3"

MANUAL SIDEDRIVE DUAL MAST STAINLESS SEALER

TOP & BOTTOM SEAL OPERATOR REQUIRED UNIFORM CARTONS

3" Spare Parts Kit Part#:

MSD22SK-0S

2 27280045 Bearing, Ball 60032Z ST

2 900600SBAC Belt, 1860mm x 2" Black

2 2728080 Bearing, Ball 620227 ST

1 10096-1S Spring, Main (Top) Stainless

1 10096-2S Spring, Main (Bottom) Chrome Stainless

4 10117 Bumper, Rubber M15x7

4 10116S Bushing, Bumper ST

2 10122-0 Blade, Cutter 3"

2 AC331300 Roller, Rubber Front 3"

2 AC332000 Roller, Rubber Rear 3"

2 A1125001 Rubber, Coupler, Blue, (T-HG)

2 A1122000 Coupler, Drive Belt M35x39

1 9510303S Spring, Front Roller Stainless

1 9510294 Washer, M21xM10x2 (Plastic)

1 10315-0 Cushion, Blade 3"

1 9510304S Ring, Retaining M4 Stainless Steel

2 27064015 Ring, E-Clip M3

Note: Part numbers, descriptions, and pricing are all subject to change without prior notification.

WWW.BESTPACK.COM VERSION 3.1_0419

QUALITY ¢ INNOVATION « COMMUNITY

© 2019 BestPack Packaging Systems. All rights reserved. This document is BestPack Public Information.



MSD22 SPARE PARTS KIT 3" CONTINUED

3" SPARE PARTS KIT PART #: MSD22SK-0S

QUANTITY PART NUMBER DESCRIPTION

1 9510305S Spring, Support Tape Erect
2 9510300S Spring, Cutter Blade Arm

Note: Part numbers, descriptions, and pricing are all subject to change without prior notification.

Bestpack For more information please go to:
WWW.BESTPACK.COM or call us at 1.888.588.2378

the tOtGI tape Sealing SOIUtiOn © 2019 BestPack Packaging Systems. All rights reserved. This document is BestPack Public Information.



BestPack

the total tape sealing solution

MSD22 SPARE PARTS KIT 6"

MANUAL SIDEDRIVE DUAL MAST CARTON SEALER

TOP & BOTTOM SEAL OPERATOR REQUIRED UNIFORM CARTONS

6" Spare Parts Kit Part#:

MSD22SK-6

QUANTITY PART NUMBER DESCRIPTION

2 900600SBAC Belt, 1860mm x 2" Black

2 A1122000 Coupler, Drive Belt M35x39

2 A1125001 Rubber, Coupler, Blue, (T-HG)

2 27280031 Bearing, Ball 600327

2 27280091 Bearing, Ball 620227

2 10096-1 Spring, Main (Top)

2 10096-2 Spring, Main (Bottom) Chrome

4 10117 Bumper, Rubber M15x7

4 10116 Bushing, Bumper M8x7

2 AC611101 Blade, Cutter 6"

2 AC631300 Roller, Rubber Front 6"

2 9510303 Spring, Front Roller

2 9510294 Washer, M21xM10x2 (Plastic)

2 AC632000 Roller, Rear Rubber 6"

2 AC611720 Cushion, Blade 6"

4 9510304 Spring, Blade Guard

4 2706401 Ring, E-Clip M3

Note: Part numbers, descriptions, and pricing are all subject to change without prior notification.

WWW.BESTPACK.COM VERSION 3.1_0419

QUALITY ¢ INNOVATION « COMMUNITY

© 2019 BestPack Packaging Systems. All rights reserved. This document is BestPack Public Information.



MSD22 SPARE PARTS KIT 6" CONTINUED

6" SPARE PARTS KIT PART #: MSD22SK-6

QUANTITY PART NUMBER DESCRIPTION

12 AC611900 Spring, Cutter Blade Arm
2 NTO0153 Screw, Socket Pan HD M5x45
1 AC610400-NT Shaft, Groove 6" - Dual Springs M8x181

Note: Part numbers, descriptions, and pricing are all subject to change without prior notification.

Bestpack For more information please go to:
WWW.BESTPACK.COM or call us at 1.888.588.2378

the tOtGI tape Sealing SOIUtiOn © 2019 BestPack Packaging Systems. All rights reserved. This document is BestPack Public Information.



